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Student Name: ___________________________________ 

 

Question Topic Grade 
Maximum 

Mark 

Mark 

Awarded 

1 % in context E 3  

2 % Discount E 7  

3 Conversion Graph D 4  

4 Unit Costs D 6  

5 Exchange Rates D 10  

6 Mean of Grouped Data D 3  

7 Income Tax C 6  

8a Grouped Frequency Diagram D 3  

8b Estimating Mean C 4  

8c Median group C 1  

9 Angles Parallel Lines C 2  

10 Percentage Change C 4  

11 Percentage Change C 3  

12 Cumulative Frequency B 5  

13 Box & Whisker Diagrams B 6  

14 Reverse Percentages B 6  

15 Upper & Lower Bounds in Measurement B 7  
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4. In Tesco, potatoes are priced as £1.80 per kg. 

 

Sirloin steak is priced as £16.75 per kg. 

 

After buying a 2.5 kg bag of potatoes and a sirloin steak I receive £8.80 change for a £20 note. 

 

What was the mass of my steak?        [6] 
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  Last year Loretta’s gross earnings were €40000.  How much tax did she pay in total? [6] 
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